| ' EXAM CODE : ST13_542012
_ POST : STATISTICAL COMPILER

[

| 1fthe dual of the problem hasz infeasible
solution, then the value of objecnve
function is

o

A Unbounded

A

Bounded

C. Nozolunion

1 D. None of these

If random variable X follows a standard
normal distribution. then X7 follows .

A Normal distribution

| B. Gamma distribution with
| parameters (1.1)

| C.  Exponential distribution
"f . - . - '

M. Chisquare diztvibution with one

] degree of freedom




&

The Chisquare cistribution can be used
{0 test:

A Goodness of fit of distriburion

B. Independence of artributes

C. Single population variance

. All of these

If the two lines of regression are
perpendicular to each other. the relation
between the two regression

coeificients 1s :

‘ _\ B_\'x = B\'}'
B, BB =1
C B\'_\' __ B\\




[ . . .
> [f PIX, V)= -1. the relation between

|
|

! ..'\.

B.

x and v 13 of the tvpe

When v increases, x also increases
When v decreases. v also decreases
¥is equal to -v

When v increases. x decreaszes

A

The AN of two numbers 12 3.5 and
their GG AL 12 8, The two numbers ave

9.6




7 . i -
| [f the two observations ave 5 and -3.
theiy Geometric mean is .
A D
i B -5
C 0
/D'. None of these
- .

The average which 1s mostly affected
be the smallest values is:

A AN

e
r'\
.
b
i

w
>
—
o
o
D




The relationzhip between mean
deviation (M. D) and Standard deviation
13

A 3MD=25D

B 5MD=4S8D

P

C. 2AD=33D

D. 63M.D=55D

If eachvalue of a series is divided by 5,
its co-efficient of variation is reduced by :

X 0%

/
B, 5%
C. 10%

D. 20%




11 | Harmonic mean in terms of (321
and AN 13

8 HAM = /G AAN

B, HAM=GA xAA

/Q:”' HAL= (G A2/ AN

B HAL = (G A0

12
The extrenie values in a negatively

skewed distriburtion lie in the :

A Naddle

B. Right tail

& Left tail

f
L
‘ ‘ D. Whole curve




13

Mode 15 calculated graphically by -
A Ogaive

B. Line diagram

”
>4

. Histogram

D. Lorenz curve

14

The value of coefficient of Kurtosiz f=can
be :

A Lezzsthan 3
B. Greater than 3

C. Equalto3

B All of these




15 | For a svmmetrical distriburion odd
moments take values:

Va
i

/A Zero
B. Positive
C. Negative

D. Poszitive and Negarive

16 | When there 1s a pronounced skewness,
the desirable scale to plot the frequency
cdistribution 1s

A Arithmetic Scale

B Multiple Scale

. Logarithmic Scale

'D. Anvof these




17 | What percentage of values lies between
Sthand 25t percentiles?

A 13%
B 80%
C.  7H%

18 | T¥rhe mean deviation of a distribution i3

20.20. the standard deviation of the
distribution 1s :

A 1515
B 2595
C. 3030

D. None of these




(19 T

Which of the following sratements is

FALSE?

A Piecharts are better than bav
graphs for compaving relative sizes

B. Data that are nonunal scale ave
presented using frequency ables

C Aleans and =tandard deviations of
ordinal data are meaningless

D. The scattev-plot 1s the baszic graphic
tool for Investigating velationships
between two interval or ratio scaled
variables

20

The corvect relationship between AN
G Mand H. s

I'f‘J

1=G. 1

?/

A A

F—

I=H.
B GA = AN = HAI

C. HA=>GA=AAN

oAM= GA=HA

L




21

22

In a randomized block design with 6
mreatments and 5 blocks. an ohzervation
13 missing. The trearment total. the block
total corvesponding to the missing
observarion i 25 and 30 respectively,
The total of the available obzervations

15 100, Then an estimare for nmssing
obzervation 1

A 25
B 13
c. 20
B 10 o

Randomization 1z a process in which
mreatiments ave allocated to the
experimental units

A. At the will of the invesugator
B. Inazequence

&7 With equal probabilite

D. By choosing the units alternatively




23 11n a Latin square desizn with 3
‘ I rrearments, we need !

A, 123 obzervations

| B. 30 obzervations

¢ 23 obzervations

D 10 observations

EY

| The distribution for error in ANOUA 13
assumed to be ;

X N(O. o)




25

26

A

C.

The contrast representing the lineav
effect among the 4 treatments iz ;

T,-2T,+ T,
T -T1T,-T,+T,
-T +5T, - 3T, + T,

None of these

The quadratic effect of a factor X at

three levelz 0. 1 and 2 can he estimarted
by the contrast -

A,

N, - N,
N, N, - 0N,
AN
NN, - 0N




{ The number of Additional Divector

’ Generals assisting the Dirvector
General of CSO 12

P

3
B 1
C. 3




28 [ 7 probability of selecting St
populartion unir m the 6t craw
when 10 units ave randomly drawn
one bv one without replacement out
of 25 population units 1=

L0
i A ’_T;
I
B
l {/\
I S
| & 8%
.
'/D' kL




29

30

4

|

The Govermment organization whose
primary vesponsibility 1s organizing
$0C10-€CONOINIC SUPVeVs 13

A, Indian Statistical Institure

B. €50
o NSS0
D.

Ministey of Statistics

Given V=26, Vo = 32 and Vs = 15,
Identify the corvect choice
A \11':311 - \'7‘_ . \7-::33:: s

N Pprog

I
ot
()]




31

Nevman allocation reduces to
proportional allocation when ;

A Swratum sizes ave equal
| ,//
A Stratum standard deviations ave
equal
C. Stratum means ave equal
D. Stratum means ave unequal

32

When Y= o+ [3 . i=1. 2. N,
which of the following statement

1 TRUE?

{-I
SYs
Y2




33

The nuinber of possible svsremaric
samples of size 8 with population
size 120 13

A S
B 12
e 13
D. 10

34

Choose the sequence of labels
corresponding to a sviremartic
sample of s1ze 4 when N = 20;

,/%f 5 10. 15. 20
B 1.10.11. 20
C. 3.9 15 18

D. 2610 14




[ 35

Nevman allocation :

A Minimizes V(v ) for a given cost

B Maximizes Viy,, | for a given cost

Minimizes Vv )} for a given zample

\KD

3126

D. Maximizes Vi{v_ | for a given sample

3176

In a randomized block design with

5 blocks and 6 treatments having
one missing value. the ervor degrees

- of freedom will be

A IS

BT 19




| :
&37 Ervov sum of squares in RBD as

| compared to CRD uzing the zawme
mateiial 1s .

A Alore
/B Less
C. Equal

|

|

! D. Not comparable
38 |

In a Latn square design with 3
- treatments. the error degrees of freedom
11 analvsis of variance 1s equal to:

X 12
A

B. 16




40

[f from each value of Y. a conztant value
1515 subtracted and then divided by 2.
the changed regression coefficient by
through coded values is;

A Half of by

| B, Twice of by
C. Same as by

D. None of these

A linear combination of treatments 1s
said to he a contrast 1ff -

A The sum of the trearment effects 130

B, All the coefficienrs of the treatments
are Uty

A
e

& The sum of the coefficients of the
,( rreatment 1s {0

|

|

D. The sum of the coefficients of the

f rreatment is less than O




il ] In a 2° factorial experiment. if the

‘ effect ABC 12 confounded in all the
4 replicates then the ervor degrees
of freedom 1s;

42

A 16

B 18

/

C. 20

D. 15

In a randomized block design. the
~unbilazed estimator for error variance

J

13
X Mean sum of zquares due to ervor
B Sum of squares due to error

C. Sum of squares due to treatiment

D. Mean sum of squaves due to
treatnent




43 | If the treatment ABC 1z confounded

m a replicate. then the other treatment
combinations thar must occur with abe

111 the same block iz

C.

D.

A

X

a. h. c

ab. ac. be

be. ac. ¢

a. b, ab

a4

[£Y = CX. C being a constant.
then E(Yh=?

;%.

B.

C




If X ~Bm.p). the distribution of
Y=n-X1s:

las |

A Bm.D

| B. B1n.x)
i
C  Bngp

P Bin.g

FE A problem 1n statistics 13 given 1o (wo

stuclents A and B. The odcs in favour
of A zolving the problen: are 6 10 9 and
against B solving the problem arve 12 to
10, Tf A and B atrempt. find the

A 6/15
B. 5/11
- C. 18435

probability of the problem being zolved.




47

[f X 12 a normal distriburion with
mean S and variance 4. then P(X < 8§) 15 ;
A0
B. 1
/’
¢ 0.5
|//
1)~

If f(x) 15 the probability density function
of a continuous vandom variable x. then
E(xt)1s:

i/z!(. J NEixdx

B. J U e

C. J:\' FOxdx

D. [ Fixdeds




49 | A number is chozen at random from the

" tharitis a mulnple of 3 ov 512

A1
B 90
C. 3710
D. 1/3

first 20 narural numbers. The probability

130 1 A coin is tossed G times. The probability
| . . .
of obtaining four or move heads 1z

| -

| A 6
‘ —_
[ ]

B =
Py

K. s

s ;




51 i If X 15 a Poisson random variable with
| parameter 9. an upper bound for
' P(3 < X «15) using Chebvshev's
mequality 1s
‘ A 00753
B 0.025
‘ C. 075
52

. The joint probability mass function of
i b o P RZx+yix=0i2 and v 20123
(X.V) 13 “}“T‘ = [I’J. otheivwize

The value of k13 ;

X 30
B 1/3
CooUs

D /13




53 | Alp. A spezks truth in 90% of cases and
M B speaks truth in 70% of cazes. The
percentage of caszes thev contradict each
other 1n making the same statement 1s
A 63
B, 20

| C. 27

LD 3

54 | The interquartile range of a normal
distribution with mean 1 and variance
o”1s approximatels :

M

4 —O
o
1 .o

| B O
KO
C. o
il

| D — G




55 | A man and his wife appear foran
inrerview for two posts. The probability
of the husband’s selection 13 1/7 and that
of wife's selection 1z 175 What 13 the

| probahility that only one of them will be

- selected?
|
|
AL 6/
B3
L
C. 4/5
D. —M:}JT)

56 | The dizrribution for which the moment

. - . . . b6
generating funcnon 1z —l+¢ 1"1s a:

A6

A Hypergeometyic distriburion

'B. Negative binomial distribution
‘ | £ Binomial cdistriburion

L D, Geometric distribution




57

) dAu }
/lﬁ. Flog = A v —

The recurrence velation for the moments

of a Poisson cistribunion with the
parvameter 7. 1s

. JLLL
o, = ——
: S S| -1 -
‘:_\' L‘]/'v
i dp,
B }'lr+1 =/ l'Lr—l * -
. |
. dp,
C‘_ -LLE+1 = /. 1'}.[-[ + —
i dr |

I i |

58

Expected value of ‘x— k‘ 15 mintmuim

when:

A k= Ey)

B, k< Median

C. k> Exw)

V. k= \edian




59

Performance of an acceptance sampling
plan can be analvzed uzing:

A Single sampling plan

/]5’, Operating characteristic curve

C. Conrtrol charrt

D. Noneof these

60

If P =% 1. the two regression lines ave:
/.z“:.“ Coincide
B. Parallel

C. Perpendicular to each other

D. XNone of these




[ 61

The probability of zelecting the et
{1. 2. 1} as samples in SRSWOR. when
N=10 and n=3 is

i
By
il
/ 20

|
Dy

62

The probability of including the units
with label 3 in a SRS with N=10 and n=3
14

L
EV
B
| !
SN
L
D -

20




63

The vange for intracluster correlation.
when clusters contain exactly A units
each 13

[
N
AN - 1)

D, voop |

64

In which of the following sampling
merhods. one can have n > N with
positive probability?

A~ SRSWR

B. SRSWOR

C. Svstematic zampling

D Stratified sampling




65

“
z

Given N =30.n=3and 8 =2 The

value of V(v boa1a;
T OSRESWOR

‘_AL

Mo

s

2

/)

LI




66

When N = 24 and n = 6. which of the

following statement 1z TRUE in

svstematic sampling?

A The provability of selecting a sample
consisting 10t and 14 population

J

unit 1s —
/ C}

B The probability of selecting a sample
consisting 9t and 14t population
unit 1z 0

C. The probability of zelecting a sample
consisting 9% and 140 population

o1
unit 15 —

1
D. The probability of selecting a sample
consisting 7t 12% and 15k

|

population unit 1s —
1




67

A life-table constructed for an age
mreerval of 5 to 10 vears 1s specificallv
known as:

A Grouped life-table
B Interval life-table
l,.@f... Abridged life-table

' D. Noneof these

‘ The death rate of women due to delivery
of children 1z termed as

A Marternal mortality vate
B. Neonartal mortality rate

C. Infant mortality vate

| D. Foetal cdeath rate




59 | 10LET A =53
i 20 PRINT A
; 30 END

| | The outpur will be:

‘{’ S
B. 5.36
C. 35
D. 3.03

=~ ) - :
0 1 GOTO statement in BASIC is:

! A Conditional

| B~ Unconditional

I
|
|
) C. Branching
\

D. Transafer




71 et 1 .
[n BASIC. if wirhin an expression the

parenthesis ave present. then the
calculations within the mnermost
| parenthesis will have:

[ e .
X First preference
B Second preference

C. Thivd preference

D. Fourth preference

72 | The child bearing age in India is:
A 20— 24 vears

B 20 - 29 vears

'/L"‘ 15~ 19 vears

D 15 =352 vears




73 | The equation of the Parabola is:

7

/A v=axT thix+e

B V= 1:‘[?(:5: + 'b:\'j +ox+ 1)

D. V=X

7~ Giventhe two regression lines as

3x-4v+8 = 0 and 4x-3v = 1. The means
of x and v are:

.

X x=4v=5

N o—

l‘\f“:

1

2
SN O

D. None of these




75

Variance of a constant 1s:

76

|

D.

A1
B -
!i’ 0
D.
In a Normal distriburion. skewness 1s
A One
i 3
/,B/. Zero

- C. Greater than one

Less than one




77

| Given the expected values for two
variables < and v as Ex) = 2. E(x?) = 10.
P E@) =30 E?) = 20 and Exv) =16, We
conclude that:

A Corvelation coefficient will be
posltive

B. Correlation coefficient will be
negative
¢ Givendata are incorrect

/

D. None of these

i78

The most popular method of
compuring consumer price mdex 1s:

A, Aggregate expendirure method

B.  Simple average of price velative
method

Familv budget method

| D Simple aggregate method




Pansche's formula for price index 1s

Zplq

A = S L0

Z P,
B Z -

- [tR)
29,4,
>ra
C. LT
Z_ P,
D Z P, L0

. 2'131(:11

Factor reversal test is invented b
A Walsh

B. AL Bowley

C. John I Griffin

P Irwin Fisher




81 | The gross Nartional product value 13
deflated through:

A Quantity Index Number
B, Price Index Number

L

C. Value Index Number

D Allofthese

82 ' Fisher’sideal index number 1s the
of Lagpegre's and Pansche's mdex
numbers,

A Arithmetic mean

B, Geometric mean

C. Harmonic mean

| D. Weighted Avithmetic mean




[83 " Geometrically crossed — weight forwula
i ‘ was given by

i 3

. X Marshall and Edgeworth
B, Fisher
€ Kellv

D. Dorbish and Bowlev

84 | If-y'1s the correlation coefficient of
n paivs of values. then irs standard
erroY 18!

: - L‘;?
A \j

j 1
[—-1
i

B.




The Arithmetic mean of the two
S R P
regression coefficients Lﬁyx anc yy 18

I G §
B _t

2
C. -t
D, 1

86

The Spearmen's rank correlation
coefficient formula 1s:

(}Z i’

J.‘\.. _—24__—
nin® — 1}
G ch2
B. 1+—Z" —
nin® =1
ﬁ(jz’j l_ (_‘)Z L']L;
11{112 - 1)
> i
D |+=

tln — 1)




87 | The skewness of a chi—square
distribution will be zevo if:

A

C.
|

[ 4

v

n <0

n —v

2

D.

88 | Sampling distrbution 13 defined as:

Chi square distribution

Frequency distriburion of the
statistic

Frequency distribution of the
parameter

t - distriburion




89 | IfX and Y are two independent chi

squave varlates with v, and 7, degrees
X/
s

\.L/.

.3

of freedom vezpectivelv. then W =
follows:

A, Chisquave distriburion

B. t- distriburtion

C. Normal distribution

rl

| L/D F - chstimbution




90

The maximum heighrt of the students’
t- distribution curve at the pomtt =0

1=,
i
E N —
pls ot
."J. l
BT
|
C I

p. Ye-Lf{3.5

91

For a random sample of size n from

2
n —

N o) % and e bs =35, -5
1=1
are.

A Identically distributed

B Independently distributed

C. Both (A and (B

D. Neither (A) nor (B)




92 Fertility rates provide an adequate
hazis for:

A, Population groweh
B Familv planning
C. Checking infant mortality

D None of these

93 | Given Min 10x1+5x>+0x3
Sublect to dN, — dN, — Ny oL

—X] + X2 T
?{.l — XS _ -

—-Lx.l + 4x2 + Ny - D

- .”
hl_ .

- In the dual of thiz problem we have:
|

(-1 )1 Max v

;T OV, T vy T,
B Max Lo, + 53, + 3%,

C  Alax 53— O, = 3Ny |

D None of these




“Assign a value of 758.33 ro the variable
“P” — for this corresponding LET

S starement 1s;

C. 10LETP="7.33

D. None of these

95

Sequence of Instructions in a progran:
thar can be executed reperitively until
certain specific conditions are sarisfied

137

A Fixed loop

B Jump

C. Variable loop




96

97

The rable of expected frequencies

azzociated with the following contingency
. =
| tabl@ 157 i :U’ U:"

Lo 2o
200020 15 15
Ao 1o Kl is 15
B | 20 lu D |l Lo
Lo 2o o2

Which method 1s 1ot suitable to as
measured seasonal variation

A Method of simple average

B. Moving average method

v 7 Ratio to trend method

D Link relative method




98 : 2 2
To test the hypothesis H, 1 G~ = o

: 2 2
against H, © " = G based on a sample

the test staristic has -

A tdistribution with 14 degrees of
freedom

B, tdistribution with 13 degrees of
freedom

€. x2distribution with 14 degiees of
freedoim

' D, x2distribunion with 15 degrees of
freedon

size 13 dravwn from N(8.63). 8-unlknown.

]



99 | A statistical rest is:
A, Astatement abour the probability
cdistribution of a random variable
B Acecision rule which helps us to
' take a decision vegarding the
| acceptance or rejection of a
| hvpothesis based on sample
| evidence
[
, - +
C. A decision rule that can be used
I even before sampling.
|
D All of these

Choose the correct statement .

A Ifthe p-value of a test is 1. the
= null hvpothesis must be vejecred

B.  Ifthe p-value of a test 12 0. the
null hvpotheszizs must he accepred

¢ Ifthe p-value of a test 13 1. the
null hvpothesis must be accepted

' D. p-value of a rest has no role in
| deciding whether to accept or veject
j a staristical hyvpothesis




101

1
| Neyman-pearson lemma gives a -

rd

FA. Most powerful test

B. Likelihood ratio test
C. Uniformly most powerful test

D.  All of these

102

A most powerful test 1s associated with

| testing -

,,2( Simple null against simple

alternative

B, Simple null against composite

| alternative

C.  Composite null against composite
alternative

D Composite null against simple

J alternative




103

Pairved t-test 1s used for -

A Testing the equality of means hased

on 2 independent samples

B. Testing the equality of variance
based on 2 independent samples

F

L. Testing the equality of means of
paired observations on same
experimental units

‘D Testing the equality of means of
paired observation on different

experimental units




104} The sample correlation based on a
sample of size 11 drawn from a bivariate
normal distribution is found to he —i\a’m-
The value of the test statistic associated
with Ho:p=0 against Hy:pz01s ;

a2
I
g 2
| 9
c 19
30

D.

o | ©o




105

Based on two independent samples of
sizes 12 and 15 drawn from

N(el,Gf)andN(@:.og) it is found that

—t
I

2 13
- . . S -,
AP B - O faw'l  a o
S -x ) =80and Y (xT -1 )
1=1

=70,

The value of the rest staristic associated

Enl

units |H, 1oy =0, H,: o] to] is:
1
A 16
LB 11
10
o7
D. 7




X

| B.

D.

106 | The likelihood ratio test reduces to NPT

if

Null and Alternative are simple

Null is simple, Alternative is
composlte

Null is composite, Alternative is
simple

Null and alternative are composite

1107 For which of the following testing

|

A
'B.
C.

}D Ho: A = Ao against Hi: A # Ao

| problems these is no UNPT of level a
1n the case of Poisson distribution

with mean A -

Ho: A = Mo against Hi: A < A\g
Ho:A=2Apagainst Hi: A= Ao

Ho: N = Ap against Hi A > Ao




1081 J¢ is believed that in Tamil Nadu,
students undergoing Science. Arts,
Commerce and Engineering branches
are in the ratio 2:1 : 1. 6. Based on a
random sample of 1500 students. it is
proposed to test the above statenment,
which of the following tests is an
appropriate one?

'A. Frest
B, t-test
1€ Chi-square test

D. Normal test

109 | Corrected statement for
201F Bl =BS THEN 70 1s :

A 90 IF BS > Bl THEN 70
B 901F Bl > B THEN 20
¢ 901F B1 > B2 THEN 70

' D. None of these




110

L~

Supply corvesponding INPUT statements
o
7,10, 20, 30, 40

A 10 INPUTA B.C. D
B. 10 INPUT A%. BS. C.D
C. 10INPUTA. B

D. None of thesze

111

Total numbers of live hirths to the total
female population of the child bearing

Lage s ;

‘A Total ferulity rate

B.  Specific fertility vate

€. General fertility vate

D. Crude birvth rate




|

11-’-' Size of an arrav is accomphshed by

means of the statement

A DIM

|

’B. READ
C. DATA
D. END

113 ‘ What is the library funcnion for finding

the square root of a variable?

‘A. ABS
B. LOG
€. SQRT

(D. SQR




114

The moment generating function of a

t-clistribution 1s .
A (1= 2g=
B m-t1?

C. (1+ 2™

. Does not exist

115

If X1 and Xz ave two independent
chisquare variates with njand ns
dlegrees of freedom respectively,

then & follows a

2

t distribution with (ni/n-) degrees of

freedom
- Beta distribution of the second kind
B (n, n,

with parameters| — . —

V202

| L .

Gammnma distribution with parameters
C. [’nl n, |

L2 2 )

‘D. None of these




116 | The standard ervor is:

A, Error of the statistic

B. Standard deviation

& Standard deviation of the statistic

D. None of these

117 | The velation between Snedecor's F and

Fisher's Z 1s

1
,1%. Z:_loo -F‘
9 e

B. F=e%
o i Both (A) and (B)

'D. Noneof (A) and (B)




18] Value of b in the trend line v = a+hx is:
A Alwavs positive

B.  Always negative

17 .'Bot.h positive and negative

D. None of these

1119 | The best method for finding out seasonal

variation 1s :

A, Simple average method
- B. Ratio to moving average method
IC. Ratioc to trend methad

D. None of these

1120 Least square method of fitting a wend 1s:
A, Most exact
B. Least exact

C. Full of subjectivity

D. Mathematically unsound

ETE——




121 | Tf the origin in a trend equation 1z shifred
| forward by three vears, x in the equation
i y = a + bx will be replaced by:
|

A x~3
BT x+3
C. 3x
'D. None of these
122

For Bernoulli distribution with probability
p of a success and g of a failure, the
relation between mean and variance that
holds 1s:

A Mean < vanrnance
' B. DMean > variance
|

C. Mean = variance

(1

(74N

D Mean € variance




123 | Purchasing power of money can be

| accessed through -

A Value index
B. Quantity index
L Consumer price index

D. Priceindex

1261 4 good index number is one that
Satisfies -
i

A Time reverzal teat

B.  Factor reversal test

@.-" Both time reversal and factor

1 reversal test

D. None of these




125 Curvent year fixed base index is equal to

» ~Current vearCBIxPrevious vear FBI
100
Current year FBIxPreviousvear CBI
100 :
Current year CBIXCurrent vear FBI
100

D Previousvear FBIxPreviousyear CBI
100

126 For a random sample from N(u, 1), an
unbiased estimatoy of 11*+1 1s

A x 41
g, (2x1) +1

o (T« e+l
n

p Isi’

L n




] | ,
127 1f X, %5.....X  be a random sample from

N(}l,og) population, the sufficient

Statistic for 1 1s

A Z(j\l ) ;\:)
| B < /n
Q ZX;

D X%, -x)

—..—‘_.

128 | An estimates 1s considered to be the best
1f1ts distribution 1s -

|

A Continuous

l B. Discrete

o~ Concentrated about the true

P-4

.

! LD Normal

parameter value




129} Pick the family which is NOT regulay :

A, Binomial
‘ .
R. Poisson

C. Cauchy

D U0.0)

130 | The Rao-Blackwell theorem helps to
improve the unbiased estimator by using

the -

A, Estimator with maximum variance
B. Unbiased estimator

¢ Sufficient estimator

D. Biased estimator




131] If the variance of an estimator attaine
the Cramer Rao lower bound the
estimator 1s :

y | Maost sufficient

B. Having 0 variance

C. Biased

D. Having the maximum variance

132 Least square estimator under linear

model set up 1s:

A. Biased
B" Unbiased with minimum variance
C. Unbiased with maximum variance

| !
{ ‘ D. Having variance 0




D,

1133 | The 95% confidence limits for p of normal
distribution when ¢* is known is -
1.96-2
| \ﬂ
N 1.96—
Jn
S
v£1.96-2—
C. Jn-1
— S
D. XFEly—
VI B S
134

Index numbers help -

A

C.

In framing of economic policies

In accessing the purchasing power or ‘
money

For adjusting national income

All of these




135 | The error (s) involved 1n the construction
or index numbers is
!
A Errvov of sampling
B. Formula error
'C. Errorin collected data
e All of these
136 | One of the limitations in the construction

L

of index numbers is:

The choice of the type of average
Choice or investigators
Choice or variables to be stuclied

All of these




137 | Weights which can be expressed with

definiteness are called -

‘A Tmplicit weights
B Explicit weights
C. Fixed weights

D. None of these

138 The chisquare distribution with n degrees

of freeclom. for n < 30 1s :

X, Positively skewed

'B. Symmetric
| ’ C. Negatively skewed

( _DA None of thege




139 The credit for deriving the F-distrihution

goes to -

A, R.A Fisher

‘B GW Snedecor

| C. W.S. Gossett

D. All of these

l1a¢ The t distribution is -

A. Positively skewed

B Symmetrical about the linet =0
|

C. Negatively skewed

' D. None of these

| , B :
141" The range of a chi-square variate 1s:

A —rto+o
B. Otol
¢ Oto =

. |D. - to + 0




142

A

Which of the following is TRUE?
(1) Method of minimum X? and m l.e gives
the same estimator for large n
(11) Method of modified minimum X?* and
m.le gives the same estimator for large n
(111) m.1.e’s are unbiased

(iv) Consistent estimator 1s alwavs

unbiased
A, (1) only
B. (1), 1) and (111) only
| X (1) and (1)
D. All the statements
143 Ifi\? X jm—{:h a random sample from

population N(11,07) . the sufficient

Statistic For o? | when p is unknown, 1s

None of these

]




144

The 100(1-a)% confidence interval for
2 2
o) /o, based on random samples from two
independent normal population of sizes
n,and n,with unknown means, where
2 2 . .
S; and S, are unbiased estimators of
2 K . .
o; and o, . is given by
[ 2 2
i X 1 _— 5_2 /2
: 2 ¢if2 bl My =l -
A, L SJ FnL -la.-i Sl
[ .2 2
| B 2 ol 2 el n.-l.r. -1
2 N SO
s 1S
C —jx /2 ! E X Fr:l—L 1, -1
| Si n,—l.n, -1 S‘
[ a2 2
S'I l Sl v/l
D. | g o X
| T2 n-1n, - ? -




145

If X, x,.....X constitutes a random

sample from f(x) = e=>9 x » 8, which

of the following estimators of § are not

biased?
A X
B X-1
C X+1
D. 2X

146

Jf %, X,.....X 1s a random sample from
f(x) = e=x% x > 8, which of the following

1s a consistent estimators of 87

(1)

B th'l

=
o< |
|




"147 Cramer- Rao inequality with regard to
the variance of an estimator provides:

A, Upper bound on the variance

B, ILower bound on the variance

C. Asymptotic variance of an estimatoy

D. Efficiency of an estimator

148 | For a random sample of size 100 from
N{(it,0%) the two sided, 95% confidence
interval for 1 when ¢® 1s unknown, with
1 _
2 .
= - T(x,-x)’is
n-1

A [X-1.968, X+1.968]

B [X-1645S, X+1.6458]

c [X-0.16458, X -0.16453]

B [X-0.1968, X +0.1968]




149

Le”

[f i and o are the process mean and SD

then the limits p = 3o ave called -

L%

B.

D.

Specification limits
Standard limits
Natural tolerance limits

Warning limits

150

LA,

B.
’} b

/S
/
D

AOQL of a single sampling plan 1s -

P(N -n)
N

N—nP
N Fal

PIN-m(1-P)
N
P(N-n)P
N




151 Type A oc curve is based on -
A Binomial distiribhution
B. Poisson distribution

A Hypergeometric distribution

D. Normal distribution

152 (C —~ chart is based on -

: A. Binomial distribution
i B. Normal distribution
£ Poisson distribution

D. Hypergeometric distribution

1531 Which of the following statenient is true?
A, AQL and LQL are same

' B. AQL and LTPD arve same

£ LQL and LTPD are same

D. AQL and RQL are same




154

155

The oc curve of a single sampling plan
gives -
X Probability of accepting the lots
B Probability of finding the specified
' number of defectives.
o Probability of finding specifiec
" number of good items
D Probability of never committing an
" error
In a double sampling plan we reject the
lot if -
A d <
/ B d >,
C. d +d, <c,




156 | Lot tolerance percentage defective is also

|

|

l

called -

A, Acceptance quality level

B. Rejectable guality level

C. Best quality level

D. Medium quality level

157

I

Given R = .009 for a process that 1s1n
control obrain the estimate of process
standard deviation. The sample sizen =6
and do = 2.5347?

A 06
B. 035
AL 0035

=

0027




[y ’
19,1
e

A
|
l

' D.

The rejection of a lot which 1s of

;B.

B.
L.

A.

‘158 [ Acceptance of a lot of unsatisfactory
quality on the basis of sampling
mspection 1s called _

A Market Risk

B

Bayes Risk
Consumer's Risk

Producer’s Risk

acceptable quahity iscalled _

Baves Risk
Consumer’s Risk
Producer’s Risk

Market EEL _




160 | Suppose a random sample of ‘n’ items
1s cdrawn from a lot of ‘IN 1items and
let ‘d’ be the number of defectives in the

sample. If ‘¢’ be the acceptrance number

of defectives then we reject the lot 1f -

| AT dec
| B. d=¢
o C. d<eg
| D. dge

1611 The double sampling inspection plan was
| designed by
JA. Dodge and Roming
B. Walter A Shewhart

C. Duncan

D. AV, Feigenbaum




162

1

———

In a certain sampling inspection, the
number of defects found in 10 samples
of 100 each are given below:

16, 18, 11, 18, 21, 10, 20, 18. 17 and 21
Find the upper control limit for the C-

chart.

A 17

B. 4.63]
C. 12.369
. 99.369




163 | The three sigma trial control limits for C- |
chart for equal size samples are given as -
| UCL=C+3c.:CL=C.
e _ -
| LCL=C-3e
UCL=C+2\Jc, (L =C,
B. B _
LCL=C- e
UCL=C++J3¢. CL=3.
C. —
LCL=C=+3c
|
D. None of the above |
164 | Ty variable samipling plan. the ]
| distribution of quality characteristic
- | 1z assumed as —
|
|
‘! A. Poisson distribution
B Normal distribution
|
€. Binomial distribution
‘ D. None of these




1165 | Control chart for nonconformities is based

on -

Polsson distribution

Normal distribution

Al
'| B. Exponential distribution
e
D

166 Which probability density function has a

None of these

constant hazard rate?
A. Binomial distribution

Poisson distribution

|
!

B.
C. Gamma distribution
158

Exponential distribution




167TF01‘ an exponential probability density

-/

. 4 ! -
function F(7) = Ae¢ ", £ 2 0, mean time

failure is -

A A4
Ve 1;-‘/

B g
|
,, 1
¢
) 1+ A
| D. 1+A

1168 Monthly fluctuation observed in a time
| -
series data are termed as -

| A. Cyclical variation

Irregular variation

o

B

£ Seasonal variation
|

D

Seculay trend

to




169 Peviodic changes in a business rime series
are called -
A, Seasons
B~ Cycles
C. Secular
D. None of these
170 | The abrupt changes observed in a time

series data are attributed to

variations
A Secular
B. Cvclical

Irregular

Seasonal




1711 Tf the slope of the tread line 1s positive it
shows -
re “Rising trend
IB. Declining trend
C. Stagnation
D. Any of the above
172 A time series Is affected by -
A, Econemic factors
' B. Non econoniic factors
/C Both (A) and (B)
D. Neither (A) nor (B)




173 | Variance of the project duration in

network 1s :

AJJE: I‘D_IOT
6
Boot=1[1, -0 |
gL ¥ P

o ol

J

1

D o= G[fp —1 T

| _
174 | Representation of beginning or
completion of some activity which
consuwmes no time 1 network 1s:

!/,..:—"‘il " Event
B. PERT
C. CPM
D. Activity




175 The longest time that an activity could

talke if everything goes wrong in network

15:

A Pessimistic time

B. Most likely time
C. Optinastic thme

D. Critical path

176

i
1

GiVE‘I’] 2.-\1:1 + .1.2 - '-\‘-3 = 2
and 3y, +2x, +x; =3

then one of the basis -

A2
/___A_. \3 2./
(1 0)
B- |
01
21 -1
C. [
3201

D. None of these




177 O.R Models mayx be classified depending

upon -
| A, Dimensionality

B. Function

C. Subject
. All of these

(

178 | The component of a time series which 1s
attached to long term fluctuations is :

- A Seasonal variation
B. Cyclical variation
C. Trregular vamation

D All of these




1781 The general decline in sales of cotton

cloths 1s attached to the component of
the time series —
A Secular wend

B. Cvclical variation

C. Seasonal variation

D. All of these

1801 The consistent 11crease 1n production of

cereals constitutes the component of a

time series -
& Secular trend

B Seasonal variation
C. Cyclical variation

D. All of these




'181

Cyclic variations in a time series are

caused by -
A. Lockouts 1n a factory

B. Warim a Countiy

' C. Floods in the States

B. None of these

Semi-average method or finding trend
1s appropriate 1f the data are available
for a -

A Long period

B. Short period

C. Long and Short period

D. None of these




183 | Tink relatives in a time series remove the

mfluence of -

v'd The trend

' B, Cyclic variation

C. TIrregular variation

D. All of these

1184 Which of the following component is used

for short term forecast?
A Cyclical variation
B. Trend

€. Seasonal variation

' D. Nomne of these




185 ' If either the primal of the dual problem
has an unbounded objective function
value, then the other problem has -

A Feasible solution
/,B.' No feasible solution

C. Unbounded solution

D. None of these

186 | T'o convert ZGF X2 b)f mto an equality,

we Iintrocduce -
A, Slack varable

B Surplusvariable

/

C. Unrestricted variable

D. None of these




1187 Tp an assignment problem. if there are ‘1’
‘ workers and 1’ jobs there would be -
A, 1 solutions
| B n!solutions
|1
| C. (n-D! solutions
|
‘ D. (mhv solutions
188 | An assigniment problem can be solved by-

189

|4 Transportation method

B. Sequencing method

C. Row method

D. None ot these

If x7's arve feasible solution to linear

| programming problem then -

/A—;"I .\'j- > ()

‘ D. None of these




Given

LA
) \"‘-\—__._.—"Y"

The maximum possible basic solution is :

B. 4
C. 2
D. G

1911\ ost commonly used index number is -

A Diffusion index number

B Priceindex number

rd

C. Value index number

y D. None of these




1192 | Consumer price index is mostly used for

framing -
A, Price policy
B Wage policy

C. Policy making

| D. All of these

193 | Estimation of quantity index number by

applving Fisher method 1s

e '}Zq-@xzmp‘_xmo

=0l — ~

\ 2 %P0 2 Ao

’Z ;P Zchpo <100

B.
\IZQOP Z(lop

C o /'Zqopoxzqopl 0
VY ape 2aw

'D. Z anp % 100
\4 qu -_qu




134 | Link relative for any month is equal to -

Previous month value

x 100
current month value

Current month value
x 100

#777 previous month value

Current month value
C — _ : x 100
 Chain relative of preceeding month

D. Allofthese

In the least square linear trend equation

v =athyx, 1fb is positive if indicates -

A, Declining trend

B. -Risjngtrend
C. No wend at all
D. All of these




196 : The onlv wayv of 1solating 1wrregular
| VALLAtIons 1s Lo remove ~from the

[ .
rine series.
A Secular rrend and seasonal variation

Secular trend, seasonal and cyclical

variarion

C. Seasonal and cyclical variation

D. Secular Trend and cyelical variation

197 For the given five values 15,24,18,33,42

the three vear moving averages are:

A 19, 22, 35

B 19,25, 31
C. 19,30, 31

D. None of these




198

Quantity index reflects what changes

from one period to another?

Al

e

C.
D.

Price
Quanftity

Value

All of these

19" Index numbers are called -

C

D.

Economic barometers

Good guide
Both (A) and (B)

Neither (A) nor (B)

200

The cost matrix in an assignnient

problem is a —

B.
C.
D.

Square matrix
Rectangle matrix
Diagonal matrix

None of these




